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QUESTION 1

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point.

Hot Area:

Answer Area
Descrniption of Behavior Yes No
A SOL Server Login can use Windows Authentication. O Q
A S0l Server Rnle pinvides permicsinne at the <erver level O O
A SQL Server Login is granted permissions to database views only. O (&)

Correct Answer:

Answer Area
Description of Behavior Yes No
A SQL Server Login can use Windows Authentication. | 9] Q
4 S0 Server Rnle prnwides permissinns at the server level | O| Q
A SQL Server Login is granted permissions 1o database views only. O 0|

QUESTION 2

HOTSPOT

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
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selection is worth one point.

Hot Area:
Answer Area
Description of Behavior Yes No
A clustered index sorts and stores the data columns of a table or o] O]

view in order, based on the clustered index key.

A non-clustered index is defined on a table or view by using a o Ol
clustered index or heap.

A unique index ensures that the index key contains no duplicate (O] (O]
values and that every row in the table or view is unique.

A filtered index is a clustered index that is optimized for queries @] O
that select a small percentage of rows from a table.

Correct Answer:

Answer Area
Description of Behavior Yes No
A clustered index sorts and stores the data columns of a table or [e] |_f_}_ |

view in order, based on the clustered index key.

A non-clustered index is defined on a table or view by using a | o] O
clustered index or heap.

A unique index ensures that the index key contains no duplicate ||:_'_}| (O]
values and that every row in the table or view is unique.

A filtered index is a clustered index that is optimized for queries O O]
that select a small percentage of rows from a table.

QUESTION 3
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You have two tables named Salesperson and Sales.

You need to ensure that each record in the Sales table has a valid associated salesperson record in the Salesperson
table.

Which database object should you add to the Sales table?
A. Nonclustered index

B. Primary key

C. Foreign key

D. Clustered index

Correct Answer: B

QUESTION 4
This question requires that you evaluate the underlined text to determine if it is correct.
The JOIN keyword combines the results of two queries and returns only rows that appear in both result sets.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct

A. No change is needed
B. INTERSECT

C. ALL

D. UNION

Correct Answer: B

INTERSECT returns rows that are common to both queries

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.
A view can be used to ensure referential integrity.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct

A. No change is needed.
B. Save an extra copy of data stored in a separate table.

C. Limit access to specific rows or columns of data in a table.
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D. Save historical data before deleting it from the base table.

Correct Answer: C
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